1.40280 U 0O 0O 0 1.40280 L O O

gogn 140280 U 0 0O 0 1.402800 0 O O
godn goooboobboodd
HEN 21.00/0 O
goon go:0boogo

0 0 :1.4028
godn g
goon 86-021-57896672 18017936672

HREREEN

01402800000

0000 1.4028

goboooood

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobobobobooooooooobon

g

gooon

0 C[0.2601 0.35

0 Sid < 1.00

0 MnJ < 1.50

0 SO < 0.030

0 PO< 0.040

0 Crld 12.000J 14.00

gooon

0000 o b(MPa)O O OO O,> 8000 1000



000000 o02(MPa)0 000D ,= 600

000&85(0)00000,> 10

goooobood

gooboobboddoosMM-2.0MML 3.5MM-600-1500MMO *COILD O 0O 0O O
gobbobboogogdg+000mm DOODOOOOOO+x0005mmO00000ooooon
gobobobboooddHvd1500-5%000 0 0000000 OHY HBHRC HRBO
O000000O0O0OANNUDDQ)O 1/4H0 1/2HO 3/4H0 H/FHDO EHO SEH.

gobbobbbodod2s0dddoBAOOOd2BOO0OH
LOODDOO0ODO0O00000O0DbDODDOO4KD6KD 8K

*kkkkkkkkkkkk @ kkkkkkkkkkk @ kkkkkkkkkkkkk

0140280 0000

gobobbboooooobobbbdoooooboobbboooooobboobobboooad
O

O000—-1.40281 0 & 40%6000—0 U O 0O OO ——-1.4028 0 U
O000—-140280 0 $45%6000—0 0 00O 0O O——-1.40280 00
0000—-140280 0 & 50%6000—0 00 00O O—-140280 00
O000—-140280 0 & 55%6000—0 0 00O 0OO—-14028000
O000—-140280 0 & 60*6000—0 00O 0OO—-140280 00
O000—-140280 0 & 65%6000—0 0 00O 0OO—-14028000
O000—-140280 0@ 70%6000—0 00 00O O—-1.40280 00
O000—-140280 0 & 75*6000—0 0 00O 0O O—-140280 00
O000—-140280 0 ¢ 80*6000—0U 00 DO O O—-14028000
O000—-140280 0 & 85*6000—0 00O OO—-140280000
O000—-140280 0 ®90*6000—0 00O OO—-1402800000

O000—-140280 0 ®95*6000—0 00O OO—-1402800 00



0000—-140280 0 & 100%6000—0 0 00O O—-14028000 00
O000—-140280 0 ¢ 110%6000—0 0 00O O —-1402800 000

O000—-140280 0 ¢ 115*6000—0 000 OO —-140280 00000

140280 0 0000

140280 0000000000000 O0LOmm-300mmO 060000000
140280 0: 00000000 0O0DO0O0OMODOO0.2-3.0¥01219*%2438) (11 O U 4.0-150*1500*60000
140280 000000 0OOO 00O 0.02mm-2.0mm*600mm*C O O O O O 0.02mm)
140280 0000 00gogd

140280 000 ooon

*************@***********@*************

gobooooood

14280 000 D 000gooon

0 0 (kg)=0 O (mm)*0 O (mm)*d O (m)*0.00623
O00000edO0OOO7.750/M3e DDODODOODO7.930/M3e [O07.8700 /M3
O00000000000D000000000kg0=000mmOx ODO0OmmOx O000mmOx 0
14280 000 D 000gooon

00 (kg)=0 0O (m)*d O (m)*d O (mm)*0

O00OmmOx OOOmmOx OO0O0OmmOx O0=000kgd

14280 000 D 000gooon

00 (kg)=0 O (mm)*0 O (m)*0 O (m)*O

140280 000 D 000gooon

(00-00)*0 07%0.02491=kg/0 (0000 0)


http://www.tcpdf.org

